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1/ In Matisse's painting, you can see Icarus flying.

2/ | Ssaw my brother Swimming in the river. :

3! He heard the bird singing. :
4! They heard the baby crying. :
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1/ I heard someone ( play, to play, played ) the guitar.

2| We sow the man ( fed, to fed, feeding ) the penguins.

3! Harry feld his mom ( touched / touching [/ to touch ) his shoulder.

[S{0IRH-3]) FolRl Clol§ BHOOIO PFRQ QNG Q.
1! He
( his brother, saw, behind the door, hiding )

( her, heard, playing the piano)
a3l
( washing the dishes, saw, him)
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e.g. Mike saw a bird flying.
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e.g : We see a man sleeping on a bench.
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The traffic was so heavy that T@gem?e or schﬁ"&‘ol.
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You are too young to get married.
= You are so young that you can't get married.
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You are old enough to drive a car.

= You are so old that you can drive a car.
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1. The math problem is so easy . + that anyone can solve it.

2. The box was so heavy - * that | went to bed early.

3. Mike is so kind . * that | couldn't carry it.

& Last night | was so tired . » that she jumped up and down.
5. The girl was so happy . « that everyone likes him.
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1. Tom wasS So nervouS that he couldn't play well. (too~ to)
=

2. The boy was too Small to ride a horse. (so~that)
=




